
Sudoku
To solve these puzzles, fill the overlapping grids with digits 
from 1 to 6 using the given clues. Each of the boxes in the 
puzzle must contain a set of digits that add up to the given sum 
in the upper left-hand corner of the box. Each row and column 
of each grid must contain each digit from 1 to 6, sans repetition.

2009
January 29Sum

please recycle this
puzzle after solving

Puzzles by David Millar
See more at thegriddle.net

Please send me your comments
via e-mail to davmillar@gmail.com
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